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H3.1

3HIODBEKRE X OEDOMNOE A a, +DOEEL, — DO Ec LB &
X=100a+10b+c L RENFE T, XOEDOAL L =D a2 ANVER T Y 1Z, BONL
D¥H e, +OMDOEBb, —DILDOE R a & 72D DT, Y=100c+10b+a &K
NET, LER-T,

4X+5Y =4(100a +10b +¢) +5(100¢ +10b + a)
=400a +40b +4¢ +500¢ +50b +5a
=405a +90b+504c¢
=9(45a +10b+56¢)
L7720 . 45a+10b+56¢ 1T THH DT, 4X+5Y 1TV 2% 9 O/ b &

N E£T

H3.2

(1) (a+b)x(c+d)=ax(c+d)+bx(c+d)=|ac+ad+bc+bd |

2) (x+a)><(x—a):xx(x—a)+ax(x—a):x2>xq¥a{—az= ¥’ —a?
B) (x+3)x(x+5)=xx(x+5)+3x(x+5)=x*+5x+3x+15=|x*+8x+15




H3.3

(») (1) 6x6-1x1-25=36-1-25=[10]
@) Tx7-2x2-25=49-4-25=[20]
(3) 8x8-3x3-25=64-9-25=[30]
(4) 9x9-4x4-25=81-16-25=[40]

(W) (D) B EAREIZHONWT
(a+5)x(a+5)—axa-25=10a Y%
ETROTWVDIZENTHRTEET, WOLEDEFHHRELTHD L,
(@a+5)x|(@a+d)|—-axa-25

=ax|(a+5)|+5x|(a+d)|—axa—25

— 2 +5a+5a 4785 w25
=10a
ERDBDT, WNELWZ EARENFE LT,

(9) HKDalz, Da=123,(2)a=12345 #ZThZIRAL T,
(1) 17.3x17.3-12.3x12.3-25=10x12.3 =

(2) 1239.5x1239.5-1234.5x1234.5-25=10x1234.5=| 12345



